GENERAL AWARENESS

. Hillary Clinton who was in India recently is the US.

Secrieary of

{ 1} Comumerce {2} State
(3} Treusury {4) Defenge
{51 None of thepe

2,100 Indian Banking mdustry bad demonstrated its
resilience (o external shocks in 2008-09, the credit

foes to
{A) Policies of the RBI and the Govt. of Indin
{B) Stremgth of Tndian Business Houses
{C) Foreign sid/mvestments (o ndian companies
(1) Only (A) (2) Ooly (B).
(3) Only (C) (4) AlL(A), (B) &nd (C)
{5y Nope of these L.
3. Tembhli village which was innews isin
(1) Bihar (2) Rejasthan
(3) Orissa {4) West Bengal
{5) Mahsrashtra

4. Roban Bopanna whe represented lll;f.i‘.ln m an
miernational evenliza

(1) Billiards Player  (2) Golf Player
{3) Chess Playet (4) Table Tennis Player
{5 Lawn Tennis pm '

5. AIBA Women's Warld ’ﬂu::g championship was
uryuﬁ-cd m Seplember 2010in__
1) Rome (2) New Delhi
éﬂjl@f@lﬂn : (4) Vienna

. (5) Barbados

6. MILA. K. Antoty 8 Usiion Micister in the Indisn
Cabinet recently signed an sgreement with South

Korei This means the agreement is for the

Cooperation in the fieldof

(1} Agriculture (2) Rurul Development
{3} Defence (4) Steel & lron

{5) None of these

7. Wha! i financial mvelusion 7

(1) To provide n permanent employment to the
imemployed

“.(1) Devahati

10.

{2} To provide a 100 days job to all those who e ¢
need of a job

(3) Te provide bunking services to all those loving ¢
Temole aress

{4) To ensure thut all financ ) transacions amouniin,
Rs. 5,000/ and above are done through bank

(5} To provide finances for all

. Recently the term 3G wax very much i news i coen
a conference on it was organzed in Indin. Whats e

letter *G' denatet in 3G 7

(1) Grade (2) Group:
(3) Global () Guild
(5) Generabion

] “mmwhmaﬂ ﬂﬂhcmﬂhmnnm AL e

wliﬁm Wm m h Wlnd up thiele buses
qudmmﬂmwm in financial probléms dimn;
st fﬁm This trend is technically known o
whuation {2) Deformation

}EI Cinlbal Stowdown  {4) Political hackdrop

{3} Globalisation

Which of the following Iaternational spotts vaent
wirs organized in Delhi i Detober 2000011 whicll
several countries participated 7

(1) Asian Gumes

{2) Waorld*Cup Cricket Toumament

{3} Avian Hockey Toumament

{4} Commonwealth Games

(5] Mune of these

Exporters in Indin get msurance ¢over and nisk conve
from which of the following organizatipns "

{11 SIDBI (ZINABARD
{3 ECGE {4) RBY
{5) Mone of lhese
12. Which of the following places in Ifidin does ot 1o
o Stock Exchange ?
(1Y Kolkata {2) Ahmedabay
{3 Mumbm {4) Delhi
{5} Udatpir
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L5 Sir Mote Singh who was Knighted by the Queen
Elisubeth |1 carlier this vearis.
11 first Sikh Tudge n UK
12 st Sikh Mirtlster in UE
330t Indian to become Vies Chancellor

Uimbridge

14} Arst Indtimn to beeome Governor ol s Sme n USA
o1 Nang of these

14, “Avodhyn' which was in news recently s 1 place
=
(1 My Pradesh {2) Bilm
0 Iapasthin {41 Tharkhamd
40 Uiutr Prodesh

Which of the following 1 the name of & privaie secior
Wik i Indlia

(1L Hank

14 Carparation Bank
t50 Al are Private Hanks

The Lrovl. of tndha does nol provide any direct financial

usstatance to which of e following schemes ?

Vi Mohnima. Gandbi Natjonal Rural Employment
duariniee schérie

(27 Rirtul Health Mission

i1 Indira Auwis Yojana "\

(1 fn,'-'fmt Slﬂ.lhi Yo '

29 Axis Bank
{4) UC 0O Bank

I

E 'ﬂ.hﬂ deres the Totier 'S" denotes n AF'&PK
alibeviation we very often see m newspopers

1 Show 2) Special
{4 State (4] sohd
[ ) huvereign
R Which of the follswing terme I uded in hnmngm :
[nlinge
LT Abintie 21 Dem il
[ VTt alen Lﬁ?ﬂ“ﬂﬁ&m
U5 Cuthole !
A Wihiteh of the following i o fqu urnp
{1} Marre, £ i2) Colton
i alm {4} Jute
2! rmm
il "n' Munim i 0 cormpuny. operiting in the ana
I h1l1pp|n|., (2} Mining
S ment () Textiles
*1 Hankag .

L Sanies of whigh of the following rfes/ratios. cannot
b seen in financial newspapers !
i 1) Bunk Rate (2) Repo Rate
{3 Uash Reserve Ratio (4 Pulse Rate

E

2

(5) Statutory Ratio
22, An individual visiting UAE will have to make his/her
payments in which of the following currencies 7

(1) Dirham (2) Taka
(3) Bal (4) Peso
(5) Dinar

3. Who smongst the following 18 NOT 2 famous writer 7
(1) Sania Mirza {2) V. 8. Naipaul
(3) Chetan Bhagat (4) Khushwant Singh
{5} Namits Gokhale

M. 'Peepli Live’ s & film directed by
(1) Anusha Rizvi (2) Aumir Khan
(3) Kirmn Rao (4) David Dhuwan
(5) None of these

25. Which of the following is the Chemical name of the
salt we use m our kitchen
(1) Calewm Carbonate  (2) Calciun Chloride
(3) Sodium Carboonte  (4) Sodium Chloride

16. The judges of the Supreme Cunt of India now retire at
the ageol '
(1) S8 years
(3) 62 yeurs
(5) 68 years

ﬁ}opmmwawnmummm&.gnfmm '
n___

() Afghanistan (Dyien

(3) Sudan (4}‘&.1.-%

(Sylmg 0 W
18, Whj::h oﬂhu following books is writien by Kiran

(2) 60 years
(4) 63 years

uﬁm. .|'IIJI.'II: for Mr. Biswas
(2) Mismkes of My Life
() A Tale of Two Sisters
(4) The Inhertance of Loss
(5) Tale of Two Cities
19, Jimena Navarrete who was crowned Miss Universe
2010 s from

{1) Mexico () Venezuels
{3) Brezil {4} New Zealand
(%) ltaly

30. India has an ngreement with USA for produeing
energy inthe formof

(1) Hydruulic {2) Thermal
(3) Nuclear (4) Solar
(5) All of these forms

31, Which of the following is an cconomic term 7
(1) Plaintiff (2) Bunker Blaster
(3) Deflation (#) Lampoon
(5} Zero Hour
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3.

34

35

3.

Which of the following awards 15 given ro:spors
perzonsan [ndia ¥
(1) Shantiswarup Bhatnagar Awards
(2) Arjuna Award
(3} Kalidas Samman
(4) Saraswstl Samrian
'{3) None af these
Which of the following is the trophy/tup associnted
with the game of cricket ?
(1) Derby (2) Merdeka Cup
(1) Santosh Trophy {4) Duleep Trophy
(5) Durand Cup
Who amengst the followmg can take benefit of the
Social Secunity Fund established by the Govt. of Indiz
for unorganized workers 7
{1} Primury school teacher
{2) Employee of Sugar Factory
{3) Textile Mazdoor
'(4) Rickshaw Puller
{5) Cletk in s factory
Shushil Kumsr who won 2 Gold Medsl at an
intomational cvemt is 8 famous -
(1) Wrestling champion (2) Golf player
{3) Tuble Termis Player (4) Weight lifler
{5) None af these
[n case s major war breaks out beiwesn Two nations,
which of the following organizations/agencies will be

GENERAL

DHrections (41-50) @ Read the following passage
cavefully and answer the questions given below it
Certain wordsare printed in bold to helpyou to locare:
them while answering some of the qmmn.h.
Once upon 2 time there Ilvdililgmnmv e ety of
Benaras Her name was Khema and she was the wife
of King Bubuputaks, Onemight,the Queen hud 3
drearm of beautiful goldén, gommnl spoke wifh great
gdum almpsl us 1Fhe.ﬂm a suge. She 1old her
husband tharshe desperately wanted to see a bird just
like the one:in her dream. So the King asked his
mﬁi‘ﬁuuu find cut ull that they could about & bird
,ﬂ;{.hmﬂm He was told thal sueh s bird did exist but
was exiremely rare and difficult 1o find, They sdvised
him (o build a besutiful lake on the outskirts of
Benaras 5o that he may attract such rare and lovely
creatures fo reside there. In this way the queen might
have her wish.
Towards the north, en Mount Citiakuta, there lived
about ninety thousand wild peese hesded by 2
beautifial golden goose called King Dhataratiha: He

seen i (he battle field. 1 addition o the armesa

fighting pares
(1) WTD [2) Red Cross
(1} CARE [4) OPEC
(3) Al of these
37, Which of the following is the abhrevined nanu
assacinted with food secunity
(1) ASHA 12) DS
(3) WTD 4y OPEC
(5) NPA
38, Which of the followimg 1 o geod ond neh soureg o
vitamn "C" 7
1) Milk i 2) Radish
13) Manago 14 Leman Juice
{5) Bananz

39, Who arrmlng:t the fullowing Indian Prime Minisdo
‘wos honpwed  Posthumaosly by the G 0
Bangladesh for hisher comimbubons w1
Independence of the naten 7

(1) Rajeey Candh (2} Jawuharlal MNehe
{3) Indirg Gandhy (4} Lal Bahudyr Shistu
(3) None of thise ,
#0. Who amongst the following was ngver a.{overir i,

the RBI T a N
(1) Buma! Jalan 12) Y. V. Redd.
(3) Arup Roy Choudhury. A4)C. Rangarajan
(%) D. Subbarag '

ENGLISH

goi o hear of this exquisite lake surrounded by warc
lities amd lotuses floatng on the surface. The King ha

nvited ail the birds wo vome and five o {1, promisi

that none:of them wouold ever be harmed, Com wa

scattered ona datly basis in order to attracy the b
Son couple of geese wentup o therr King, the goldu

gooee and lold himi that they wire guute lred of T

up on the mountams and would like 1o see b

wonderfiul lake where they had béen promsed |

and proteetion. Thee king agreed to their reguest dn

ook the Mock down south towards Henone
Meanwhile. a1 the lake king Bahipurtikn bl pluccd
hunters oll sround in otder 0 caplwe oy paldio
goose that happened (o pass by, Bo the next morminy
when the headhunter saw this flock ol peen
approaching he was véry excited to see thelr wolden
lender. He mmediately went about seltmy bp o snare
amongst the water lilies und Tobases, as he kngw il
the leader would definitely be the first 1o alight

The whole flock came flying down m ome maghty swoop
andd a5 expected it was the King's foot that wuchyd 1l

3
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witer: firdd. He was ensnured and could ml escape. | 4, What was the king'

Seving this, the other geese flew into & panic. But none
hiai the coutage 1o fry to froe fher king and o flew back
W Mount Cittacutn for safety. All except one. He was the
chiet captuin, Sumukha. King Dhataranhs entreated him
1 fly to =afety 100, a5 he would surely be captired if he
staved by his side: But Sumukhs replied that he would
tever desert his master in the face of danger und would
either try 1o save him or die by his side

Al this pomt the hunter approached and as Sumukha
sw lim he decided o appeal w bus compassion. The
Fnanter agked the golden goose how come he kad not
nonced ihe trap that was set. The golden goose replied
that when one's time was up it was ro use Lo struggle
aprnnst what was fated and ohe must just scesprit The
humtsman was: very' impressed with his grace and
wisdom. He then turned to Sumukha and asked why
lie- had not fled with the other birds even though he

wis free to do so. Sumuokka answered that the golden
wouse was hug King, best friend snd master and (hat he
could never desert him even ol the coat of his own life, |
ITearing this, the hunter reilised that these were 2

coiliple of rare birds of great nobility, He did not much ||

e for his own King's reward and decided ﬂuﬁt
right thinig and sel them free. He tald bumilkhmfm a5 |
lie wis ready 10 die for his King he would set them,
both frde (b By wherever they wish L LI

Why were the geese keen on visiting the lake in

Venaras 7

i 11 They were invited personally by king Bahupumlu
i) They were tred of their old loke;

i 11 They were smused by the water lilies and lotuses,
14) The lake was not very far from the mountsins,
15 T lake was 0 be 8 sounce of good food and

protecion,
Wity did the king approach the ministecs 7
(1) I order 1 find out the best focation for the lake
(21 In arder 1o find guaif a goldenigoose existed.
i To u-qm"mml lu#mﬁ: 5 dreamy,
14} To devise aiplan i ;mtur: all rare hird specics.
%10 enquine abou! the best hunter in the locality
Why did the head hunter release the king. the goiden
Jonse Y
111 He was umpressed by his wisdom and nobility,
12) The geese were a rane specics of ieds:
141 The goiden goose, king Dhatarattha promised him
a handsome reward.
(4 The hunter symprhised with the golden goose:
(%1 The hunter did not want the chief captair to lose a

[memd

mmmhchmibmmn;nlake?

(1) To attraet all rare species of living animals and
birds.

{2) To benutify the city of Bonarss,

(3) He did not want to go against the wishes of hus
wife.

(4) He wunted to capture the golder: goose.

(5) He enjoyed bird watching and wanted to create a
habitat for them.

. Why did the flock of geese panic and retreat 1o Mount

Ciitacuts 7

(1) Their king took the wrong route (o the luke and
they lost their way.

(2) Their king, the golden geese was captured.

(3) Their chief captain, Sumukhn betrayed the kg,

(4) They sponed many hunters by the lake.

(%) None of these

46, What advice did the ministers give to the king ?

(1) That no such golden goose existed and he was only
wasting his time searching for ona.

{2) To create an artificial golden goose for the queen,

{3) To build & lake in order to attract the golden gooser

(4) To open a sanctuary of rare birdy forthe queen.

(%) Tohave s huunﬁ:.lprdmmuundﬁwﬁmtm'
and frees,

7. Which of the following stxicments would best
Hmb:lheqnﬂ.ltmnfw"

(©) Luyll awards the kju;
(D) The naive and ignorant gooase,
(1) Ouly (4) (2) Only (B)
(3)Only (C)and (D) (4) Only (A) and (D)
‘l5‘.l Ouly (B) and (D)
Directions (48-50) : Choase the word which is moss
nearly the sume in meaning s the word printed in

beld as wsed in the passage.

48. Exquisite :
(1} Expensive (2) Delicate
(3) Elsborate . (4) Wonderful
() Bfficiemt

49, Saare :
(1) Temp (2) Alarm
(3) Plun (4) Amrangement
{3} Protection

50, Desert:
(1) Displease (2) Encourage
(1) Lnstiguie (4) Escont
{5) Abandon
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5,

58,

Directions (51-55) : Jn cach of the following

senfences, an idiomatic expression or o proverh Is

highlighted, Select the alternutive which besi

describes ity wge in the sentence

The course of events made it necessary for Josaph 1o

stari working.

(1) events st were planned,

(2) Tong list of future events.

(3) A succession of unexpected events,

(4) nature of events that followed after Joseph joimed
work,

(5) Neme of theae

. The team put their plant Ints execution the very next

day,

(1) proposed & plan.

(2) discussed their plan.

(3) started thinking about a plan.

(4) started camrying out their plan,

(5) None of these

Mrs Nayak opeaed the diseussion on the *alarming
rate of poverty in India®

(1) stated the discnsgion,

(2) gave har opinion in the discussion,

(3) dict gV et on the discussion.

(4) wolcomed the people to the discussion.
(5) None of éwsc

.Thtmwlmm“hi;lnw]?wdwwilu—

imtn force ment month.

(1) be frestapon the people.

(2) be associdted from next month onwards,
{3) be mplemented next month.

{4) be withdrawn next moath.

(5) be widely rejected pext month.

Whea the girl wanted 10 stay out past miidnight, her
Ftber put his foot dowe.

(1) gave in mhum
{E}wulkndmydiﬂppm‘u;l?

(3) obsiructed her from lewving the house.
n{#}Whuhmmm

;rtﬂlﬁmnﬂhﬂ
Direetions (56-60) : Read each mmbpdm

whether there is any grammutical evroriniit. The
error. if any. will be in one part of the yetence. The
number of that part is the answer. [f there &.ne error.
the answer is (S)i.e. ‘No Eveor (Tgnore the arvors of
punictuation, if any.)

56. A public safety advertising (1)/ campaign in Russia

(2) hope o draw attention (3)/ of pedestrians crossing
the road (4). No Error (5)

57. Muclear waste wall still being (1) rachoactive evon
after twenty thousand years. (2)/ 1t must be disposed
(3 of very carefully (4), No Eeror (5)

38. My friond lived at the top (1) / of an old house (2)
which attic had beeh (3) /converied into o At (4) %
Error (5)

9, The Renwissance was (1) { afime 1o ‘re-awnkening ()
in both the arts (1) / and the sciences. (4) No L %)

60. A eash prize was (1) / award to the mou (2)
successiul saleyman of the year {31 by the Prewidint
of the company. (4) No Error ()

Directions (61-65) : Each semtemee helow' hus o
blamk’s. euch blank indicares that something hits hovn
omitied. Choave the word/s that best fitls the momiiny;

of the septende at o whole
61, The sate-ofthe-art school is  with b medical
clinic and fimess center.
(1) establish (2} illustrative
{3) having {4} equipped
{5) compromsing

62. Meny  leading members  of th: umwﬁﬁﬁ.‘
party  tojustify the party’s decis:

(1) having tried |"J]has
(1) have been trymg M]tﬁ_ﬂs
(5) 1 trying
'63. The chanty ___-mast of Its money through provil,
donations. ,
(1) retrives: (2} borrows
(3] uges (4) proposes
(5) mvests

ﬂ. The Bhagavad Gita is a partof the Mahabharata, fu o
sinds_ andis  iniwelf
(l‘,l-dcpmdtnt. incomplete {2) together, justificd
(3) scparate, dignified  (4) apan, complete

(5) united, connected
65. The arhst's work of art 15 worthy  prutee.
(1) for (2ol
(3o {4}y about
(5) 1o be

Directions (66-T0) : In cuch qucstion helon fona
words printed In bold type are given Theeo i
numbered (1),(2), (3) and (4). One of these wond
printed in bold may either be wromgly spelt or
inapprapriate In the contest of the sentence. Find ant
the word that s inapgirpriate o wrongly speld, if am
The number of that word 15 your answer Jf all th
words. printed in Dold are corvectly spelr wnil
agpropriate in e context of the semtence thee

mark(5). Le. Al Correct’ as your anpwer,

5
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Y

e

n,

o

Fmplisyees musi familinrise (| ) themselves with the

health (2) and safety (3 mannoal (4) of the

wznmindtiom 44) All Comegt

1. The political {11 envlronment (2} is not conduglve

IVt ecomomie reforme, (4) All Correct {5)
Fhieship (1) was it s¢a for many days and finally (2)/
anchored (3 near the costline. {4)/ All Correct,
some of our regular listenors {1 ) have camplained
170 ahout the new programase (3)/ schedule (4). All
Lzl £3)
e repart (1) found thal the saefty (2)/ equipmen! had
bty very poordy (3) mulntained (4} All Correat (3)
Diveetions (71-75). Rearrange the following six
vritencesigroup of sentences (A). (B), (), D), (E)
i (1 m the proper sequence 1o form a meaningful
mardgraph, then answer the guestions given below
T
| A} The merchant greedily counted his gold and said,
The purse | dropped hisd 200 pieces of gold in it,
You've already stolen more than the reward | Go
away or 1 will tell the police.”
i) The judge, lookwg towards the merchanl said,

"you stated that the purse you lost contained 200 |

peees of gold Well, that's a Lmﬂld:ﬂbh-bm

Buv the purse this beggar found had ﬂtll]r lw |

pieees of pold”

/) ey n honest man, the beggar came forward and. |
handed the purse w the merchant saving, "Heee &5 1

viriar plarse. May | hive my resard now 1
(D1 This purse therefure cunmot be the one you lost."

And, withthat, the judpe pv:li‘:pmﬁcandulll!m &

pald 1o the hﬂ[{.};ﬂ
1A heggar found a leather purse that nnmmu bl

dropmed m o the marketploce. m‘npé'nim ity be
discoverod thu 1 cunlmba f-ﬂ'D pigees uf Id
Iien he heard a merchy ol F“}‘«mwrd' A
reward o the une who ﬁndam; feather purse”
(1171 ami i Fonest o, said the beyyur defiantly,
"l us m: ﬂm mpun tar the court. The judge
plﬂfﬂlﬂ? Ijnleuhh!i}mih sides of the story.

. Whith o the lollowmg should be the FIFTH

senieneenfier the rearrangement 7
it (210
iR o
PSP

2 Which of the following should be (he SECOND

sentenice afler the rearrangement
RO {Ho
0k (4)H

5cC
73. Which of the following should be the SIXTH (LAST).
sentence after the rearmngement !
(A (D
() F 4)E
(He
4, Which of the following should be the FIRST sentence
afler the rearrangement ?
(HE (218
(3)D - @
(S)F

75, Which of the following should be the FOURTH
sentence afler the rearrangement 7

(o (HF
(3)8 4 E
(5)C

Directions (76-80) : In the follawing passage, thero
are blanks, each of which has been numbered, Theve
numbery are printed below the passage and aguinst
each, five words are suggesied, one of which firy the
blank appropriately. Find out the appropriate word in.
ach case, A
The Bhogavad Gita is s poem of 700 mnwhp;&n

part of the Maubarsta. 1 is the oaly philasont
song existing in all s ml&ky and
influence have never waned. l&m"]fglﬂ'ulﬂ guidance
Inthuimuhlﬁlmﬂﬂil times of erisis. 1 s in the (77)
of a dislogue between. Arjhu and Krishna on the
batlefield. Agjuna's gﬁ- troubled at the thought of

the H!Imr.tdﬂ his and relatives. He cannol
mmufinygamathtbti'm of the tortured
‘Bpirit of mun tom by conflicting obligations and
moralities,
The dialogue proveeds and takes us o the higher level
of individun! duty and social behaviour, application of
ethics (o practical life and social outlook that should
govern all. An uttempt is (79) 1o recondile the three
paths of buman advancement-the path of knowledge
the path of action and the path of faith. But mote (§0)
is laid on faith There is u call of sction tw meet the
obligations of life, keeping m view the spinitual
background and the lurge purpose of the universe.

76, (1) shines (2) enforces
(1) secures {d) seks
{5) provades

T7. (1) constitution (2) part
(3) formation (4) form
(3) programme

6
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8. (1) dream
(3) figiires
(5) concejved
. (1) made
(1) comed

(2) source
(4) symbaol

12) estahlished
(4) given

B1. 38% of 4500 - 2%4 of 7 = 1640

(1) 260 (21270
(3) 280 (4) 290
(5) None ufllhnsr
BV +15 -3 =97
(1733 (2)32
(3] 34 (4) 30
(5) Non¢ ol these
83, (79204 178) = §5=7
(11512 {2) 1521
(31 1251 {4) 1531
|51 None of these
“ 2 %.i hl :"
VI T 5.
27 22|
Il— =
(1 330 (2) m
A1} 197
Bl 4=
330 & 330
{3) None of these
RS, ]—ﬂmf—l of 35!11 of 52000="
24 i
(1) 4875 (2) 4857
{3) 4785 (4) 4877 i
15) Nome of thexe 1 B
u&.- .5_:?.--:;‘3'\_'2 rﬂ:?'j-\-::_ E -a'.
67 171 128 J
15 .00 1%
L 7)) —
el 2o
A S 17
A @
ol L
- §5) None of these
87, 283x 564+ 252=20x !
(1) 80 (2) 803
[3) 807 (4) B9
3) None of these
8K, (5K63-+2704)x 05="
(1) 2955.5 (2) 29055
3) 2590.5 (4) 2909.5

7

9.1 3

QUANTITATIVE APTITUDE

Directions (81-90) : What should come in prace of ine
question mark (7) in the following guestions 7

i) genemted

BO. (1) significant (2) declaration
(1) ermphast (4) Dleisings
(§) tmportant
{5) None of these

89, TJAINTS 2=
(1) 1% (2113
(3118 (4311
(51 Mome of these

90, 2563952521237 ="
(1) 17253 (2} 17551
(3117513 (4} 17133

(3) None of these

Mrections (91-95) ¢ Whi shiould come in place o1l
guestion mark () in the follioving number s b

13 29 1 125 153

(183 (2) 69 %
(3) 61 (4) 65 W
(S181 L L%
.45 57 81 117 165 7 P L ¥
| (1)23s L S 3
Y (3205 T
! iﬂ_'m\:‘ r st :
93. 153 334 SN 36 49 ¢
”,‘!ﬂ;" ' (2) 358
i R (4) 385
L, (5)3
I B S
¢ 24 4 204
(12 (2)4
3ia r4}|'
5
2
()
95,17 18 26 53 117 7 458
(1)342 (2) 142
(3)257 (4) 262
(5) 242

9. I the numerator of a certuin fraction incroas! b

200% and the denommator is inereased by 1500, 11
new fmction thus f:'mnr,d is 1—:_' What i thee sy

fraction "
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i2)

o bt oba | —

{4)

1 S of these
- I he uverage of five numbers is 49. The average of the

first and the second numbers 1 48 and the average of
the fourth and fifth numbers 15 28, What 8 the third

]

number !
(1792 (23
1 598 {4) Cnnot be deternuned

|41 Name of these

2N members of & certan group are marmed. What s
{he respective ratin between the mumbér of marmed
members W the number of unmarried nenibers ?
AR {2) SR
R (4) Cunnot be determined |
151 Nune of thew
vir- Khanna wok o loan of Rs: 10,0000~ on sumple
nieredl for 1w years: sl the rate 3 p.op Thi foml
amouni tharhie will be paying us imterest in 2 years iy
ool smonthdy salory. Whit i his monthly salary 7
0y Bs 10,0000 (2) Ra. 16,0000
) ke 20,000/ (4) R, 12,0000
131 None of [hese !
(1 i many different witys can the letiers of the word |
SECOND' be wrranged .
14177 N)
[3) S0
[3) None of these
Mrections (101-108) = Sy the following table
wrefully amd answer the yuestions. that follaw. i
Number of employees from sis_different banks
tieated in dilferent cliies,
W= Males, F = Females
Lin ?.*El_ Dielhl “ﬂha
i 31 ¥F I MIF[(M|F
1 Mgy e
-1 2. ]

4
iyl 434
i i3h
R (M T 14
L r.‘ﬁﬁf hLadt] 10665574 ) S04 1324 | 981124 (234 ] 128 | 2138
R T T T T R
1. What is the ratio of nuinber of males jo the number of
lemales respectively Bank D from all the cities
lingether !
Ao ARy
DI AT2:3RS
20 Nane of thgse

.

J'I’.

iy

(2) 120
{4) 270

1

b L

{14 13TH
Lxa 28
2351 AR
2851178

Kallata
M(F

i

2K
b | 345
axs s

pil ]

2]
150
14

120
158
3
163

53
Rl
Bl
158

133
i
439
234

1H

(2) 487:356
{4) 486197

8

| 102, Whatiathe ratio ofthe amber o males o the nurnber

of females respectively in Patna from Bank A, Rank C

and Bank E together ?

() 175173 (177173
@ 177112 (4) 175: 172
(5) None of these

103. What is the approximnte average of the mumber of
mules working in all the banks together in Kolkata 7

(1) 350 (2) 310
{3) 340 (4) 380
(5) 360

184, The number of females in all the banks together in

Delhi are approximately what percent of the number
oFmales from all the bunks together in the same ity

(1)88 (2) 98
(3)78 (4)68
(5) 58

108, The number of females in Bank B from Agra are what
percentof the fetnales in Bank C from the same city ?
(1)33.2 [2)232
(132 {4)28.2
{5) Nune of these

-
i

| 106, What is the value of (x) in the fnilwml.aquﬁun}

9

W (!

{117 {2)0" 5
(3) 16 (?;‘%&:r
(5) Nunﬂ,ﬁl'ﬂ'mg

7. Thwwﬂhmml tinies the aversge speed
‘ofw car. Theear coversa distance of 520 ks in 8 hours

. Howemuch distance will the train cover in 13 hours?

553 ke (2) 2585 ks
| (3) 2355 kms (4) 2535 kims
(3] MNone of these

108. The area of a triangle is half the area of & square. The
perimeter of the square is 224 cms. What is the itrea of
the triangle !

(1) 1836 cm’ (2) 1658 cm’
(3) 1558 em’ (4) 1586em”
{syw‘gurum

[09. Yestorday Priti typed an essay of 5000 words at the
speed of 60 words per minute. Today she typed the
same essay faster and her speed was 15% more than
yesterday. What is the approximate difference in the
time she ook to type yestarday and the time she 1ook

lo type Inday T

{17 20 munutes {2) 30 minules
(3) 10 minutes {4) 40 minutes
(5)1 hour
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110, How much will be the compound interest fo be puid on

1L

aprineiple amount Ra. 85,000 ufter 3 years at the rute
of 6 pepan !

(1) Rs. 16623.36/-

() R, 16236.36/-

{3) Rs: 16326.34V-

{4) Rs. 16632.34/-

(5) Notie of these

Direetlons (111-115) @ Whar appracimate valie
should come in place of the question mark (?) in the
[following questions ? .

(Note : You are not expected i caloulate the exact
value,)

635435+ 403=7
(1) 735

(3) 695

15) 715

(2) 795
(4) 685

12 35332=1

(1}8
(3) 38
(5)18

(2)38
(4) 68

113, 105003+ 307993+ 215630=7

(11610 (2) 650
(3) 660 (4) 670
(5)630
114, 5223+ 36x 093="
(1135 () 125
{3) 148 (4) 135
(5113
15, 2218 =7
(1) 87 DY & oM
{3)67

i,

112,

English words can be formed
with the letiers ADIC uaing each letier only once in
each word !

{1) None {2) One
{3) Two (4) Three
{5) More than thres

Four of the following five are alike in a certain way
und so form a group, which is the one that does pot

belong to that groun?

W37 &% B

9

Perrmtiige o sinipliyecs Pevsmmiage o [rmabis, 5 =/l

i ifTe st diartinng departmnt i i sume T
Tuml X, nl it i

U iapgany gl

ol i eompiity
Vil Mo 1wl = 8041

116, The number of females in the Marketing dejiarine

1.

118 What it the ratio of number I;FI' ﬁﬁ&;

18

q

we spproximately whot percent of dhe (i
employecs in Marketing and  Customer Relatiin

Depurtments wgether?

{1126 (236
(316 {4) 46
(5) 16

The total number of females are what percent of the
total number of males in the organization ?

(1)% (270 -
(1) Kt (4) b0 "
(5) None of these %

b 'IH
department o the number mﬂg A nn"ﬂ'
department respectively & :" I‘? Q o

(1317 O Aas s
B%is, 8 J»-r
|5:-a{mmlﬁc &
Wlml i M|MMbu of males: frony s
e Reltion and HR departments wopeiher
{II! (2) 1510
311540 (4) 1560
1 15) None of hese

ﬂll. Wht is the respective ribin of number of employee

123,

in Administrative departiment 10 the number of iale
in the sume department 7

REASONING ABILITY

(1194 (2183
(3)7:2 {4) B:5
{5) None of these

(11 Violin [2) Harp
(3] Giuitar (4) Flue
(5) Sitar

I 1t i possible 1o mark only one meamingful o)
with the first, fourth, fifth and tenth letters of the
TELEVISION, which of the follawing would b 1l
second letter of that word from the aght eml 7 11 no
such word can be made, pive "X g8 your msw er ol ()
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135

127

124,

129,

1M

o Ly o certain code TRUMP is written SUTQN. How is

,ﬁrﬂ!tmﬂmﬁm
1f4ho/dighs in the sumber 79246358 wre aranged i

iitre than one sudh word can be formed, dive your
arswer as *Y"

X I21L
(4IN 4 E
My .

FIRED written in that ¢ode 7

{1} GIQFF (21 JGEQF

{31 IQFEF 14) JGOQFE

(51 1GQEF

I a certain lunguage ‘gmive me more” i coded as 7 3
§', *ahe has more’ Is coded 0a'9 7 |” and *the asked
e genlly’ i coded s "6 3 2 17, Which of the
following is the code for *give” in that language 7
(115§ 7

(1) [4)9

(311

Ii cach of the vowels in' the word GOLIATHS is
chunged to the next lefier in the Enghsh alphabetical
series and each ¢onsonani js changed lo the previous
letter in the English alphabetical serfes, znd then the
alphabets so formed ire arranged in alphabetical order
fram Jefl w nght, which of the following will be sixth
trom the left of the new armngement thus formed 2
i | 5 [a] P

i1l i4j)

(S1F 1

b conmn language “WEAK” 15 coded nsﬂ#mﬂ

HEST" is coded ae 7884 nod 'WREK' 15 ceded a8 48
(17" How will ‘KEWRA' be coded in the same code?

(74504 (2)p7584
(#Ee T4 MSp794
514 78p8

How many such pairs of letters are there in h woid |
FORMATION each of which hanas, many letiors
between them in the word (i both forwaed and
hatkward directions) a5 they hlwhdf.'rm them in
the English alphabetical order?

111 None {21 One

(1) Two " {4) Three

destending order from loft to right, what will be the
difference between the digits which are third from the
n.g,hiunﬂﬂmd&mnﬂml:ﬁmthemmum?
(1) (M2

ER 44

(31§

"Music’ is related to “Noles” in the same wuy a1 |
‘Language’ isrelated to
i 1l Sentencoy

" {2) Combination |

(3) Grammar (4) Alphubets

I5) Syntax

Directions (131-13%) : Read the foliowing
fnj?:rrnﬁm carefully and answer the questions which
follow

If*P * Q" means P is the mother of Q"

IT'P % Q' mesns P s the father of ()*

If *P+ Q' mesms 'P is the sister of Q)".

If ‘P~ Q" means ‘P |y the brother of Q)"

If'P> Q' mesns ‘P is the son of Q.

[P < Q" means ‘P is the daughter of Q.

In the expression 'Ax B+R>8" how is S related to A *
{1) Daughter-in-law

(2) Daughter

{3) Wife

(4) Sister

(5) Cannot be determined

132, Which of the following means P is the father of § 7

13L

(1)Px Q<R *S (2) Rx P<Q-§
(3)R+S>Q+P (#)5+Q-R*P
{5) Cannol be determined
133. Inthe expression’ P+ Q> A - B'how is Prelatad 10 B!
(1) Dughter (2) San :
(3) Niece (4) Nephew'
| (5) Canniot be determined
| 134, Which of the mlhwmwoutﬂmmrrﬂ
ﬂ]D}B'A'E . =
(2)D+B-G2A '
(3)D-B=A*C
(4)D+ BxAxC
[ﬂﬂuuﬂ'ﬁﬂc
!JS, llhuqltﬂ:m WoX<Y * Zhowis Wrelntad 10 27
:UJHHPMW (2) Uncle
[ﬂﬂmhr.r in- law
(5) None of these

Directions (136-140) : In each of the guestions beiow
are -given three siaiements followed by two
conclusions numbered | and 1, You have to take the
givm statements fo. be true even It ihey seem 1o be ar
variance from commandy known facty and then decide
which of the given conclusions logically from the
statements disregarding commaonly known facts.

Give answer (1) if only conclusion | follows.

Give answer (2) if only conclusion 1l follows,

Give answer (3) if either conclusion | or conclusion
11 follown.

Give answer (4) il neither comclusion |
conclugion 1T follows.

Give answer (5) if both conclusion ] and I1 follows,

e

10
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136, Statesments : All medicines am whbists,

137,

i38,

Some tublety are tonics;

Some topics are bitier,
Concluslons : |, Some tablets are bitter.

11. No medicine is & tomic,
Statoments : All incomes are salares;

Some salaries are perks.

Some perks are tangible.
Conclugiomn ; |. Some incomes are tangible,

11. At least some perks are salaries.
Stntements : All roses are red.

Some red are colour,

All colour are paints.
Conclusions : 1. Some red are painis.

1L All red are roses.

139. Statements : Some casunl are formal,

140,

141,

All formal are expensive.

All expensive are elegant
Conelusivns : |. All formal are elegant.

11, Some casual are expetisive.
Statesments : All towns are cibes,

All cities are urhan,

Some urban are rurkl,
Conclusions: 1. Some towns are rural,

IL Al rural are towns. -
Directions (141-145) : The following questions ase |,
based on five words given below:

RAT ONE BUT AND SAW

(The new words formed afler performing the
mentioned operations may or may not necepsarily be
meaningful English words)

Ifin each of the given words, each alphabet is

to the next letter in the English alphabetical

how many words thus ﬁurmnd have the m
changed to vowels ?

{1} One 'ﬁ‘]'ﬂh

(3) Three (4) Four

(5) Five

142. How many such puirs of letters are there in the word

143,

d in bakd, each of which has as many letters

between thern i the word (in both forward and

directions) aa thay have between them in

the English alphabetical order 7
(1) None

(2) One
(3) Two () Thres

(5) Four

In each of the given words, each comsonants s
changed o the next lotter m the English alphisbetical
series, In how mimy words thus formed have the
vowels (same or different) two or more timas?

(1) Noae (2) One

150, 'S tmvelled 1o

(3) Twao
(5) four

(4) three

144, if first leticr of each word s chunged to the next Jirer

in the English alphabetical seres, how pan.
meaningful English words will be formed’

(1) One (2) Tw
(3) Thres {4) Four
(5] five

145, If the given woeds are armanged from left 10 npht w

they come in the dictionary which will be fourth from
left?

(1) RAT
{3) BUT
(5) SAW
146-150 : Read the following information carefull
and arzwer the questions which follow

five friends P, Q, R, 5 and T start thelr joumey
separetely from Goa 1o Chennai, Kolkata, Defh
Hyderabad, Munglore vie different means o)
imnsportation ie Bus, Train, Plane, Car and Yaich
The person going to Delbi did not use yoreh, i
reached Manglore by car and is used yatch, Q nsed
plane to resch Kolkata and T completed higjourriey by
train, Goa it not conmected with Dethi and Chennai
vis bus.

(1) ONE
{4) AND

Hﬁ- Which pair of place Mmupm-:a womect

(1) Kolkata-Bus,

. | 147 Q: xonmuns 1
(1) Hyderabad (2) Chermm
(3) Manglore {4) Delhi

(5) Can not be determined

148, Who of the following tvelled 1o Delhi?

mT
(3)8
(5)Q

2)R
LIR

148, Which of the following 1= not correct for P?

(1) the travelled 1o Kolkata by bus

(2) the travelled to Delhi by train

(3) the travelled 1o Chennai by yatch

(4) the travelled to Hyderabad by bus

(5) None of these

by

(1} Hyderabad, train (2) Chennai, yatch
{3) Chennai, train (4) Delhi, yatch
(5) Dehi, traim
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Directions (151-168) : In each of the questions given below which one of the five apswer figures on the right should
come aftar they problem figures on the left, if the sequence we continned?

151, Probler Figures. : 156, Problem Figures _ .
e bbonid | [ XX
o 04 [¢mefoono oo A !
Answet Figures | _ Asswer Figum '
Y oo¢oaK oo oo D X X :
LQOOQ@OOQO'O¢0}0¢¢E X ! x X;
@ o @ m @ O @ ©
152, Problem Figares 157 probitem Figurs
B R - L [T _ .
m =3 &F OO nia - E E‘
@ - — i r | R o
Answer Figures Angwer Figanis -
L] ] = ] W =— | !
oo m | BRI
n |l m  =m{ @ ® | - i
o B @ 6 w0 @ O’ @ ®
153, Proplem Figures '  Figore .
"l r= T
| r t | y
! | n
Angwer Figures
. i i
- &M [!I- & EH li
o ‘ L Yy

mo @ 6@
154. Problem Figures

: : ) h & . i !| x:
\N‘\EK K - . s’l ﬁt:
- | ' | & (XA 4 & v o¥ g
.hnmerl’igq.tﬂ Answer Figures .

o SN | T

o w o moa o @ o

gures Probiei F

155,718 | - g l“'.;" ) ﬂw T C 2
s 1 a = S N A
B O 0 A ! O J
Answer Figores " Angwer Figures
z o %0 =t I ! . | |
boF - + 0 ]1:::“3!- i
- z ‘ § (v 28l 2z«

m @ @ @ o m @ o ®
12
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MARKETING APTITUDE /| COMPUTER KNOWLEDGE

161, Marketing in Banks 18 required for
(1) Gettmy new customers
(2) Retmrming exisiing customers
(3) Lending
{4) Accepting of deposits
(5) Al of these
162. Service Marketing s the same ps_~
(1) Relunionship Marketing
(2) Tramsaction Marketing
(3) Internsl Marketing
(4) All of these
(5) None of these
163, Market size Means
1) Size of marketing staff
(2) Size of the Organisation
() Seope for profits
(4) Scope for murkeling
(5) Note of these
164, Market share means
(1) Market price of shares
[2pSensex
3 ket
(4 of business amo
(Mot volatility i
165, Intgmud Marketing mesns
(1 ¥Salling 4o onesolf
(2)Selling 40 the ermployees
{3 pSalling of samples
(4) 8&lling to foreign markets
{5) Nooe:of these
16, A Call' means
(1) A Profession (2) Teleualk
(3) Calling on & Prospect {Q*ACI.'IJ t"m
(5) All of [hese
167, A "Call Cenire'i
(1) A Place whmmmn -mimy day
(2) A training Centre
:AFA Bﬂlﬁ :

Iﬂl ﬂ. presentalion means
(1) Display of products
12) Explaining the utility of produgcts
(31 A gift
{4) Displiry of Commumcation skallx
{5) All of these
169, A DSA meins
(1} Directly Selling Autharity
(2) Diirectly Selling Agent,

set up where customer quenies are

13

170,

171

172

oA "Targer Grodp® in Marketingl . &

(3) Dhrect Selling Authorty

(4] Dhrect Sellmp Agent

(51 Dismmbuiors & Sellmg Agenees
‘Benchiriark” means

(1) Products lisied up on 4 béch
[2) Salextien sitting on 4 bench

[ 31 Set standards

(4} Marks oo @ bench

{5} None af these

Value - added services menms.

(1) Grving full value for maney

(2} Better value for higher price

{3) Crsther service

{4) Additional service

(5) All the above

CRMmeans

(1 ) Customer R Relationship Mimagement
(2 Customer Retention Manuger

{3) Customer Relatives Moet

{4) Channel Route Market

(5) Channel Repredenintive Munager

-

(1) To whom the sales shouldbe di
(2) A Group of Sellers
(3) A Growp of Buyds _ = o
4 A ummf Fmduﬁl .
S)ATT mm; o’

The T et Grotp for Credit Cards 15
(! I‘% f‘ard'flﬂtdm
12) Allexssting borrowers

) Indaviduads with tiable inéome

176,

(4) All ol these (5 None of these

& Bancasturance moiis

(1) Assurance given by Banky o Lodnees

(21 Assurance w bank with one baik

(3) Assurance 1o repay loans

(4) Assurance to give good service

(51 Selling wsurance products throwgh bupks
Cross - selling rmckns

(1) Selling with a cross mee

(2) Selling 1o Red Cross memisers

{31 Selling 1o Blue Cross members

{4) Selling across coumtnes

{51 Selling other produicts foexisting cusinee

. ATM means

(1) Any Time Markétmy

(2} Any Time Momey

{3 Any Time Machine

{4} Automativ Teller Machine
(5) Automatic Teller Money

Recruitment.Guru



178, Digital Marketiogis
{11 wway of Direct Marketing
1200 wiiy of Indirect Marketing
i31 i Strategy of the DSAs
143 Allof these
13} None of these

Markel seimentation helpsin.
(1) Identifving the irget group
2] Fooussed marketmy
19) Improved lead generation
140 Omiy (1] & (2)
(= A2 & £3)
Uinily one of the followmy s troe. Find the same.
11) Marketing 15 not required in a monapolistic
Hiluiiion
12) Markering 1 not required i Public entorprises
1 1) Mirketing depends on competitors performanee
(41 Marketing has no ol to pliy in produgtion levels
(1 Mativated  employees do not roguire miles
Ineentives,
Price s an important factor for effectye marketing,
W it e the other Py 7
{11 Product, Promotion & Place
(2) Place, Persunsion & Promotion
{31 Pride, Person' & Place
(43 Produet, Paper & Persor
15) o of tiese
Vlvertisements are required for
I 1) Boosting the production levels
12 Motivating the emplovess
11 Bovafing the salés
() Al of these
151 Nomz of Thise
IKY. Silles forecasting involves studyol &
[11 Propet selling price &
‘1 Sales planning W -.'; '
i h [istribution outlem '

4 Consumet needy mdw

Al of these A
\.a.um iﬁwmwhfimdud o
rightsales persons
nght producis

f marketing dectsions
aﬂ‘l’& I-:lmg the sales meentivis

fine of thige
Murinr:tmg 15 termed us succepsfill, when
{11 There 15 4 rise in the mmber of salesmen
() There i no nived for post-sales service
1) There s no need 1 give discounts
() Theze if ise in sales through mare clients
(5 Mucketing 18 an angoing process and hence, can
nqver be sucepsatul,

175

I8

£

k!

A&

|

What happens wiien you preas the Cirl +V key ?
({M*EQHUW,’:WMWMEWM
the cursor point
(2) The selected itom is pasted from the Clipboard
(3) The selected ilem is pasted to the Clipboard
(4)The sclectod drawing objects are distibuiced

187, Which do you press to enter the current date in s cell ?
(1) CTRL + ; {sernicolon)
(2) CTRL + SHIFT +: (colon)
(3) CTRL+ F10
(4) CTRL+ F11
(5) None of these
188, Which of the following describes a relutiona datahase ?
(1} 1t provides a relationship between integers
(2) It consists of separste twbles of related duts
(3) t retrieves datn reluied 10 its quenies
(4) 1t provides a relationship betwoen floats
(5) None of these
189, How do you print your slides i u handou! thai
includen fines for notes ?

oumber of slides perpageto3 .
(2)In the Print dislog box, select Handogts
“mumber of slides per page, then sloct the
cammenl pages option
wrmuwmmmwlwm
mnmgﬁwa
() N

; Mhﬂamhmo!dmm“mw
b one printed page How can you aulomatically
rink the column hesdings on each pago ?

Page Setup on the File menu, click the Sheet
tab, and enter the row that contains these column
headings under Prmt titles

(2) Click Page Setup on the File menu, click the Page
tub, elick the Optians buttan, then enter your
choloss

(3) Click Page Setup on the File menu, click the Sheet
tab, and make & selection under the Print heading

(4) Click Page Preview on the File meny, click the
Sheet tah, and enter the row that contzing these
column headings under Print titles

(5) None of these

191, The Assistant is

(1) an upplication that allows you to take notes and
save then in a file

(2)an animated charsoter thal provides belp and

suggestions
{3) u button on the standard Toolbar that executes the
Print edtmmand

14
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] (24 From the View Megu = pLayon * Gegemai
dittionary file Tab > uncheck the 'l"ml‘ in; in Reaihng
(5) None of these Layout®

192, Which of the followng plices the common data | 13} From the Farmat Meni= Autofarmat = Edif Tal
elatwnts in order from smallest to largest 7 uncheck the 'L with emailed nachment
(1) Chractr, il ocond, e, databuse | (@ Nlthe above
(2) Character, recoed, field, file, ditbise 15} None of these
(3) Character, field, rocond, file, datnbuse 196, By defuult your doctiment prints in_ imade
(4) Bit, byte, chardcter, mmmm | (1) Lunhaape (2) portrail
{5) Nome of thisse (3) pagee sleup o (4) Print view

193, Select the odd one out {5} Mane of [hese
(1) merpretes {2) Operating Systom | 197, Which of the following is sniall, singhe stte s ord
() Compiler {#) Assembler (1) LAN (2050
(4) None of thise (3 PAM {4) ISP

194. Which of these s  quick way to copy formatiing from (51 Nane of these
& selected coll to two other cell on the same | 198, How can page break be done in wond!
wittksheet 7 | (1) Press (1 key putting cursoron an sppropriate pls
(1) Ut CTRL to weloisted all thrie colls, then click e | (2) Pross ctil + Enter puting cumar o6 an appropriae il
Paste Hutton image button on Il*ﬂudﬂlndlhnr (%) Use Insertiection hraak
(2) Capy the selected cell, mmumm i (4] Change font seee of document
cells, click Style on the Format menu, fhen click | {51 None of these

Madify 199. What do the comenti of Active ¢ell show?
(31 Chick Formal Painter Button image on the (1) Naine box (2) Rehesding
meﬂu% ool twice, (hen <lick i cach cell (3) formula bar 4 T..km

(51 None of these
Tis sgtirch ind Jood Ghe v

(1) weloct the clie
(1] Iclucl the: urw r@

195, How do you ed 1

always opening in Ihel!ldin#h '

(1) From the Tools Meau > Options > Genefl Tab
ek the“Allow saning i R

“ i 'l Ih#l“‘“l 0 LU

™ ST ST L
) ,‘;.m-m. n m n 0
m ..ﬁ ._m .ﬂ_m W, ol
@ W "
LW e e M.
o L) & m W
Cl N% o) - m o

P T "
f'm'igl'“:‘im W
) e ) i M
R a1, (4 fﬂ (L] L
) o) m
& a | s )
G |0 0l Dk () W

\ '| RN TR TR ST
R A R
o WL e m il
e STl - )
e O o e
. 'marj-'.._. -"}-!.@ u! Egin} ”' i1
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EXPLANATIONS

RL Ry A5 E =y = |60
1

1710 - 1640
1

9L (H)
s o » 125 253
(. | g Cﬂ) 84

Moo i <l o Wl
82, (3) B
T 5 W s\ nr 1
4 . t o .
. 12 o 36 i 0
=280 Any, 9. (2)
KL 1t 415" <33 =97 A A w G
L= IR $
v =07+ J080- 725 T
“= 1 16— 225= 951 B g
' | %, (1)
=131 Ant, } % -]t ‘ i 1 i :
"o F i 3
KL (%) 'li': 3= lTj'I {0 | ﬂ.j (I (E
- '1 -il Ji #} rl
) i i
$5-55=4x 95, (5)
¥ 0= s F? I I 5 s
r=|%21 Any, i_HleE?j! = jlﬂ ““"H |
. J __.,.L, " o 1 13 =
TR PR Lt il oo S . - -
oI 330 330 - _.Iﬁ*-llllﬂr!h'ﬂﬁshll frnction will
Ny IL ) . ‘
Ll . : |
K] ':.__" i am rln"i"ﬂ. - l—,
H:..l,iz{mtj.itizﬂ?s Ans, -'”r' >

5T 11 4%
Ah ()= L!-q--_=”
67 17 13R MR

PR8A 4 252 =20

2« A5 =8K11= S
Ans,
R4, [5) JUIRTS= ¢ =11
3F-r=2l
=4 A,
I 141250395252 =3232
T8010 - R4R4 =| 7155 Ans,

. ‘.
T | ! Sum of five numbers =5 49= 245
BT 01 2035 56+ 252 =20 1 . % im of first and second numbers =2« 48 <06

Surm of fourth und fifth numbers= 2 2=

So. the third number=245-152=91  Ama,
98, (3) Let, il members are 100

So, mamed members =24

(and unmyuried members = 100 - 28= 72

o, respective fatio=28:72=7: |# Ans.
P.R.T.z'llmﬂx 2x 3:

99, (3)81.= ;
| () TR
Led, his salury will be £
i
So, — =00
“Tﬂl
= x=20000Rs. Ant.
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108k (1) Total worss fiom Second 107, idjﬂpeujufmel:nn%uﬂnﬁtmfh
B <l6=T20 At
101. (1) Males in Bank D
=344 ATRS 2354 2554 1244358 |

and speed of the frain = 3% 63 =195 km/h
Distance covered by train io 13 houn
=95 13=2535kms  Amns,

and Females in l::;n | 108, (5} Penmeter of the square =4 « side
=454 + 25+ 235+ 175+ 1654 24 = 43 mde =2
=548 4 side = S6¢m
Respective ranio =194 [543 Agca of the square =(56)" = 3136em’
=456.20 s Su, Arenof the trangle = : « J116
102. (3) Males in Pama from Bank A, C and E ' 2
=234 + 350+ 124 =708 ! =1568 (em)’ Ans,

ard fernales in Putna from Bank A, Cand E
=120+ 234 + 334 =688
Respective mtio = 708: 688

189, {3} Yesterday time taken = _SE_EU =813 minutes

Today speed of typing m per mintte =60 % s

=177:172 Am, | 160
- T l {
103, 2) Averogemales imall bonks i Kollats | andtimetken = < M3minutes
35343484399+ 358+ 1254278 69 !
= 3 - 5o, difference in time =833 - 723
1861 = || minutes Kb,

= 23100 = 31D approm u,
6 110, (2) Formula
104, {1} Females of all banks in Delh

[ i g \
z4ﬁ+ﬁﬁ+u5+zss+lsﬁ+ﬁ:ﬂ = N -‘J?-ff{"*—-]
J i 100
=1795 | ! . ; :
and males of all bunks in Delhi 8 A = 85000 p%}]
%
=254 4 3464-3661-4?34-256#1’46 S! 5‘ 53253000
= Huh F =§5000x —x —x —="
msxmu L B | W0 s s 2
approx % = w:rs | =10123636Rs.
. ' : 1 = 10123436 - 85000
=ss€f.' —— Ans. W, 5
108, (2 Female¥'tn Bank B from Agra= 116 B -
) A HIL. (5)635x 455+ 403
mﬁWmMCﬁmm S00 -
_116x100 S BB o
3pprox =112% Am. 403 403
6, i &9 N2 (55332 =42 2x 13
' b (1) =1764 At
= O xx =3x9 113, {5)105003 + 307993+ 215630
= o =16x9 | =HIRA26 An.,
- 5= fnd | 104 (1) 283 oy
= =18
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ST A ' 123, (3) The First, fourth, ffth ind tenth Jetters of the word

it TELEVISION ure
IR, 200 2208 = 3w 2 587 = T,EV,N
2% 2VR=4T2 Ans. usefil will be VENT
(16 13h The numbers of fernaliés in the marksting deparment . second lenier from right is N.
14 124, (5) TRU MP  FIR ED
= KK — =240 - &'I];g Mig
] "I b4l
Fotatemployees m marketing and customers pelation S o
epariment 125, (1) giveme more =73 5
isonx 1 u*tnu. -anu:r'm 1804 fhe his more =97 |
L i ':’;’“ she asked me genly'= 6.3 2 |
\pivageate M= IH};IJ |55 Ans, Sogive=35 Ans.
16, hanpin GOLIATHS wi
F70 04 Fatal temnles are 2000 126, (2) Afer FP:T::r:dR LIATHS Wil be
il ikl malés wre 4500 2000 = 2500 ' . .
0 The new word will be in ulphabetical order
e == a0k BFGIKERS
(RN Males jn HR department ! S, 00k ety Sor it = P
i 1 127. (4 WEAK = 4598 REST= %8¢ "
Wi =3 e -1 =
500 Iﬁ RILT ™ 360 - 120 =440 z & WREK = 4§%7 ”
il imles 1 Acvounts department ‘," So, KEWRA = 45987 { hgm
N !
5= 2 - KD = !zt :E]Fﬂm“ﬂ =
1) 10 ;-F__,___ N, ON
1) 240 = 30K BV A VAT
ol —40 W00=2- |5 Ans, [Hlﬂdtﬁndmsmdwﬁn number 79246358
P Totul males m - Design, Customer Relation and wil bﬂ”ﬁ’#—“
IR degyrtment _ Difference between 8 and 4
15401 :l:. 1“““" :_] .* ] :s_4=4 A.M-
Eﬂsﬂmj =200/ “‘] 50, language = Alphaber

00 131 3 Ax s R3S
=360 4 'IJ'?"m 4:‘.'0] +lf'ri'1|.l‘---.1:m“] Hil p i
81 ¢ mgum—mn Ans. 2 A—— 88— R —9
| |||F.knpboym FLUN — department So. § is wife of A
p ‘5
~ 4500 ﬁ?ﬁ“m 0 “Q"R
Faiher . o0 ;other
e Total males in Adminisiratve depariment =2 0F 0 *R b
o N 2000 1 i So, P is father of §
Sy =2 e =1
40 2 100 By (W P+Q0>4-8
iy by | = ‘ ’ - A
Fuspeenve rfio = 360° 1H0 =5 4 Ans. ‘ o Py W, duia
1A

- So,Pismececf B
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1M, (D +8-C* 4 140, (4)

=5 D—l——a i Tl =
st hother — mndher Vibes ™
So, ID'is mmtof A @

138 (WW>X<y*2Z

N

8.4 wn o m;r m;z Nelther conclusion | nar 1] follows,
So, W is nephew of Z 141, (4) The squure will be
136, (3) RAT = §HU BLT=CVU
DNE=POF AND =B0L
SAW =WBX
b, Angigd
2. ()
143, (41 RAT =SAV, BUT=CUV.ONF (0
Either con¢lusions | or 1] folfows | AND=AOE and SAW = WAX
3% 8oy, The words which have two or more vomelwe
dfe ]

. (2) After changing the words will be'
RAT = SAT, BUT - CUT. GNE=pRL
ANE =BND ‘i SAW=TAW

Only conclusions | hﬂm wonls are
138, (1) St

..01) RAT willbe foufth From Ief 1o igh
146-150 : The arrangement will he
Frends  Cities Vehicles

P Hyderabud ~ Bus
» Q Kolkata Atroplane
,._purﬂfgpnﬁhqﬂ];fh]lum\' # Manglore ~ Car
13%}[@]9 | ) (heanai  Boat
- | Delhy Train
146. (4)
147. (2)
148, (1)
149, (4)
150. (2)

Both conclusion | nd [T follow.,
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